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lim[ £(x)+ g(x)] =lim £(x)+lim g(x)

+00 + L = 400

L>0,L<0
—0+ L =-0
+00 + (+00) = 400 + 00 = +00

—00 + (—00) = —00 — 00 = —00

lim[ f(x)— g(x)] =lim f(x)—lim g(x)

400 — L =400

}20,L<0

—0—L=-0
+00 —(+w0)=+0—00  Indeterminacié
+00 — (—00) = +00 + 00 = 400
—00 — (400) = —00 — 00 = —00

—0—(—w)=—-+0 Indeterminacio

lim [ f(x) g(x)] =lim f(x) lim g(x)
+0-L=40—>L>0

—0:-L=—0—>L>0
+o0-L=—00—>L<0
—0-L=40—>L<0
400 (+00) = 400
—00 - (—00) = +00
—00 - (+00) = —00
+00 - (—o0) = —o0

0 (£o0) Indeterminacio

g(x) | limg(x)
4o/ L=40—>L>0

lim[f(x)} _ lim f(x)

—0/L=—0—>L>0

40/ L=—0—>L<0(

—0/L=40—>L<0

+00 /(4+0)

0 /(~o0) o
Indeterminacio

—00 /(4+0)

+00 /(—)

0/0 Indeterminacio



OPERACIONS AMB LIMITS

+00/0" = +00
+00/0” =—00
—00/ 0" =—o00
—0/0” =+00
L/0"=40—>L>0
L/0"=-0—>L>0
L/0"=-0—>L<0
L/0"=+40—>L<0
L/(+0)=0"—>L>0
L/(~0)=0"—L>0
L/(+0)=0">L<0
L/(—0)=0"—>L<0

limg(x)

tim £ ()5 =tim[ £(x)]

L+oo

=+0—>L>0
L ®=0>L>0
L ™ -050<L<1

L ®=4030<L<1

0 —® = 1 =i= +00
0 0
0°=0>L>0
(0*) L=L+=+oo—>L<0
0
(0_) t =0i+=+oo—>L<0 i L= parell
(0') L =i_=—oo—)L<O i L=senar
0
(+oo)L =+00—=>L>0
L 1
(+o0) o 0> L<0
(+oo)(+°°) = +00
(=0) 1 1
(+w) (+w)(+oo) +00
1 oo Indeterminacio 0° Indeterminacio

(s0)
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Indeterminacio



